7 AR ]

FE | WM A KR R S K 4RO R W 2 e o 9T
2] s
T | LR E A I BT RRA KA Gl R AL AT
HAr V=N
B
A6 7 FE JR X 5 B 1 4 o
Bpr
1A AR AR
Xevo TQ-S 5 RGBT (A% R 1Bk = 5 PUMLAT 543 ; GR22GITT v 14
B30 HLs N-EVAPTM 112 fH i /K T ZRAX s MS200 22 57 iR i T 21X s Vortex-genie
2 IER AR KQ-S00DE Hfz il pi e il e dss (il Acquity UPLC HSS
T3(100mmx2.1mm, 1.8pm).
2. AR
RIS B AN oK BB, 8. HIR. IR N EEAlL; A sl
M )\ AfE; EMR.
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A G H 3R A5 VAT T )
iy H3: Y 240 I FCVR . 55 F G 2D R FE G BRI R -Do bRYE S
FF VRIS A, C 1 il 5980, ) FR - 10mmol/L R R KV (7 0.1% Y TR)
% CLH1) FRRENC ) e M bR BE 43 90 8 0. 1ng/mL+ 0.5ng/mL. Ing/mL. Sng/mL.

10ng/mL 1) RN AFRAE TR, b AR 5 ng/mL.
4. ] AL ER 5 %

FREGRBE2gChE i1 3)0.01g) F-50 mL )L ZE5E 26 5 9 ) 5 O v, dEGf N
100 uL1 mg/LIRE PIFR ARSI, IIN20 mL & 5% HER I B, b e T
5, YEIHERE3 Omin, 8000 r/minSLs5 min. FBHL2.0 mL EiEHET & 10 mL
(A, NG5 mg GCB. 65 mg Cisf165 mg EMR, W Jigi &, 8000 r/min
BSOS min, FEHX1.0 mL EISWL BUMKELL T, A 1.0 mLH EE+10mmol/L B R
AR IEWI(R0.1% FFIR) (1+1) SEA, WHE30s, 0.22 pmJe RMALIENRLE,
0 ORR s ER DT e, B R T A e
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A T 2O R A4S # I = DU BT G (B Xevo TQ-S), K
WATERS Al faif4: ACQUITY UPLC HSS T3 2.Immx100mm, 1.8pm.

2.5 7 B 2 A

WA A CHEE) 1B (10mmol/L H A KIF(F 0.1%H1R) ) ALl A
30°C, HEREE SpL. PEMCRER WL 1.
% 1 UPLC RAVEIFET
HFE) Cmin)  %6#E (mL/min) A B

0.0 0.3 3 97
1 0.3 3 97
5.5 0.3 95 5
5.6 0.3 3 97
i) 0.3 3 97

3. KA

IS 0 B AR ES+ F95 508 MRM; BANET HLE 3.0kV; v i)
SIEE 500°C; LA AR A 800L/MHr; AL 150L/Hr. o % 2800,
¥ 2.

2 FH L ZHA IR FIMRM 24

SE L O

SE MR 1

J¥45 B CV/CE CV/CE
(m/z) (m/z)
1 FH AR 272.4>107.2 4020 272.4>161.2  40/18
) JeH S T%-Ds 276.5>108.3  40/20  276.5>164.3  40/18
3 HERREH T 346.5>164.2  6/14  346.5>149.1 6/5
4 thitnemy-De 355.6>164.1 12/16 355.6>137.1 12/46
4.5LWEE R

K PV 7R v T 4 v P A e, 2 R 2 R A I 1 Y
0.1-10 ng/mL WA RERLF, 78 145, 2 580 10 fif @ BRI R
76.3%~115%2.[a], FHXARAE 2 RSD<16.9%, 454 I3 1-3.
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